


N36220001V: EcoGun AA MAN 1P 
N36410007 Basic body EcoGun 256 
M09020451 Nozzle 0,18mm 10°/107" 
M09020452 Nozzle 0,18mm 20°/207" 
M09020453 Nozzle 0,18mm 30°/307" 
M09020454 Nozzle 0,18mm 40°/407" 
M09020455 Nozzle 0,23mm 10°/109" 
M09020456 Nozzle 0,23mm 20°/209" 
M09020457 Nozzle 0,23mm 30°/309" 
M09020458 Nozzle 0,23mm 40°/409" 
M09020459 Nozzle 0,28mm 30°/311" 
M09020460 Nozzle 0,28mm 40°/411" 
M09020461 Nozzle 0,33mm 40°/413" 
M09020462 Nozzle 0,38mm 50°/515" 
M09020463 Nozzle 0,18mm 10°/107" L 
M09020464 Nozzle 0,18mm 20°/207" L 
M09020465 Nozzle 0,23mm 10°/109" L 
M09020466 Nozzle 0,23mm 20°/209" L 
M09020467 Nozzle 0,23mm 30°/309" L 
M09020468 Nozzle 0,28mm 30°/311" L 
M09020469 Nozzle 0,33mm 40°/413" L 
M09020470 Nozzle 0,33mm 60°/613" 
M09020471 Nozzle 0,33mm 70°/713" 
M09020472 Nozzle 0,38mm 60°/615" 
M09020473 Nozzle 0,38mm 70°/715" 
M09020474 Nozzle 0,43mm 50°/517" 
M09020571 Nozzle 0,28mm 20°/211" 
M09020579 Nozzle 0,33mm 20°/213" 
M09020643 Nozzle 0,43mm 70°/717" 
M09020644 Nozzle 0,53mm 80°/821" 
M09020645 Nozzle 0,33mm 80°/813" 
M09020646 Nozzle 0,48mm 70°/719" 
M09020647 Nozzle 0,53mm 60°/621" 
M09020648 Nozzle 0,38mm 20°/215" 
M09020649 Nozzle 0,33mm 30°/313" 
M09020650 Nozzle 0,38mm 30°/315" 
M09020651 Nozzle 0,43mm 60°/617" 
M09020655 Nozzle 0,43mm 30°/317" 
M09020656 Nozzle 0,48mm 30°/319" 
M09020657 Nozzle 0,38mm 40°/415" 
M09020658 Nozzle 0,43mm 40°/417" 
M09020659 Nozzle 0,48mm 40°/419" 
M09020660 Nozzle 0,23mm 50°/509" 
M09020661 Nozzle 0,28mm 50°/511" 
M09020662 Nozzle 0,33mm 50°/513" 
M09020663 Nozzle 0,48mm 50°/519" 
M09020664 Nozzle 0,53mm 50°/521" 
M09020665 Nozzle 0,23mm 60°/609" 
M09020666 Nozzle 0,28mm 60°/611" 
M09020667 Nozzle 0,48mm 60°/619" 
M09020668 Nozzle 0,28mm 70°/711" 
M09020669 Nozzle 0,53mm 70°/721"  



 

M09020670 Nozzle 0,38mm 80°/815" 
M09020671 Nozzle 0,43mm 80°/817" 
M09020672 Nozzle 0,48mm 80°/819" 
M09020673 Nozzle 0,38mm 90°/915" 
M09020674 Nozzle 0,43mm 90°/917" 
M09020675 Nozzle 0,48mm 90°/919" 
M09020676 Nozzle 0,53mm 90°/921" 
M35030090 Air cap 56 
M34040010 Paint pipe w/o filter M16x1,5 
M34040011 Paint pipe short with filter M16x1,5 
M34040012 Paint pipe long with filter M16x1,5 
M34040017 Paint pipe without filter 1/4" NPSM 
M34040018 Paint pipe short with filter 1/4" NPSM 
M34040019 Paint pipe long with filter 1/4" NPSM 
M34040025 Paint pipe short w. filter 1/4"NPSM fix 
M60020004 Nozzle guard complete AA M36x1.5 
N36960054 Tool kit maintenance 
W90030042 Cardboard sleeve EcoGun small II 
W90020052 Blank cardboard EcoGun 256/AL MAN 300 
N36960053 Trigger kit 
N36960048 Air regulation kit 
N36960049 Fluid valve kit 
N36960050 Gland kit 
N36960051 Air valve kit 
N36960052 Union nut kit 
N36960090 Trigger lock kit 
M19023681 Bracket for paint pipe 
M08030814 O-ring 33,3x1,6 PTFE 
M08030864 O-ring 13x1 
M08030866 O-ring 10x1 
M08220023 Leak-proof collar "V" D25 d16,4 L11 
M08280040 Gasket D10 d8 s1,5 PTFE 
M08280057 Gasket U1 
M32020269 Needle with spike 256 
M35010264 Ring piston seat 
M49150002 Valve pin 
M13060010 Filter 200msh red long 
M13060011 Filter 100msh yellow long 
M13060012 Filter 50msh white long 
M13060013 Filter 30msh green long 
M13060017 Filter 100msh short 
M13060018 Filter 200msh short 
M13100241 Filter insert 100msh lamellar black 
M13100242 Filter insert 60msh lamellar white 
M16010485 Housing spray gun EcoGun 256 
M01200003 Air connection 1/4" UNI rotating 
M08260049 Needle receiver cpl.EcoGun 256 
N36960169 Needle and Gland kit N 
M32020209 Needle rear part EcoGun 
M19060019 Hook 2xx 
M69010131 Lever L79,2 
M68010235 Pressure spring 
M68010255 Pressure spring d1,6 D8,6 Lo38  



 

M41260002 Stop screw 
M06010248 Bolt D4 L24,8 
M19023649 Bracket paint pipe EcoGun AA MAN 1P 
M47100007 Locking trigger 14x41 
M20010408 Sleeve 
M21030001 Adjusting knob 
M08280058 Gasket D10 d8 L2,5 
M35010265 Ring D10 BLUE 
M41040121 Adjusting screw 
D00070089 Shaft pin 3x16 ISO 2338 A2 h8 
D67990012 Locking washer 3,2 DIN6799 A2 
D79910042 Countersunk bolt M4x8 DIN7991 SST 
D00070085 Shaft pin 3x8 ISO 2338 A2 h8 
D00070091 Shaft pin 2,5x10 ISO 2338 A2 h8 
D67990013 Locking washer 6,0 DIN6799 A2 
D09630121 Countersunk bolt M3,5x8 DIN963 1.4301 
D01370005 Spring washer A2,5 DIN137 VA2 
M03030065 Nozzle seat EcoGun 256 
D00070092 Shaft pin 1,5x4 ISO 2338 A2 h8 
M35010269 Ring D7,4 L3 PE-UHMW 
M09170070 Nozzle core 0,18mm 10°/107" 
W90010069 Packaging folie 50x40x20 boxes 
M09170002 Nozzle core 0,18mm 20°/207" 
M09170006 Nozzle core 0,18mm 30°/307" 
M09170010 Nozzle core 0,18mm 40°/407" 
M09170071 Nozzle core 0,23mm 10°/109" 
M09170003 Nozzle core 0,23mm 20°/209" 
M09170007 Nozzle core 0,23mm 30°/309" 
M09170011 Nozzle core 0,23mm 40°/409" 
M09170008 Nozzle core 0,28mm 30°/311" 
M09170012 Nozzle core 0,28mm 40°/411" 
M09170013 Nozzle core 0,33mm 40°/413" 
M09170018 Nozzle core 0,38mm 50°/515" 
M09170047 Nozzle core 0,18mm 10°/107" L 
M09170051 Nozzle core 0,18mm 20°/207" L 
M09170049 Nozzle core 0,23mm 10°/109" L 
M09170053 Nozzle core 0,23mm 20°/209" L 
M09170056 Nozzle core 0,23mm 30°/309" L 
M09170058 Nozzle core 0,28mm 30°/311" L 
M09170063 Nozzle core 0,33mm 40°/413" L 
M09170021 Nozzle core 0,33mm 60°/613" 
M09170040 Nozzle core 0,33mm 70°/713" 
M09170022 Nozzle core 0,38mm 60°/615" 
M09170093 Nozzle core 0,38mm 70°/715" 
M09170019 Nozzle core 0,43mm 50°/517" 
M09170023 Nozzle core 0,28mm 20°/211" 
M09170004 Nozzle core 0,33mm 20°/213" 
M09170094 Nozzle core 0,43mm 70°/717" 
M09170102 Nozzle core 0,53mm 80°/821" 
M09170124 Nozzle core 0,78mm 80°/831'' 
M09170095 Nozzle core 0,48mm 70°/719" 
M09170038 Nozzle core 0,53mm 60°/621" 
M09170005 Nozzle core 0,38mm 20°/215"  



 

M09170009 Nozzle core 0,33mm 30°/313" 
M09170025 Nozzle core 0,38mm 30°/315" 
M09170036 Nozzle core 0,43mm 60°/617" 
M09170026 Nozzle core 0,43mm 30°/317" 
M09170080 Nozzle core 0,48mm 30°/319" 
M09170014 Nozzle core 0,38mm 40°/415" 
M09170028 Nozzle core 0,43mm 40°/417" 
M09170084 Nozzle core 0,48mm 40°/419" 
M09170015 Nozzle core 0,23mm 50°/509" 
M09170016 Nozzle core 0,28mm 50°/511" 
M09170017 Nozzle core 0,33mm 50°/513" 
M09170088 Nozzle core 0,48mm 50°/519" 
M09170031 Nozzle core 0,53mm 50°/521" 
M09170034 Nozzle core 0,23mm 60°/609" 
M09170020 Nozzle core 0,28mm 60°/611" 
M09170037 Nozzle core 0,48mm 60°/619" 
M09170039 Nozzle core 0,28mm 70°/711" 
M09170096 Nozzle core 0,53mm 70°/721" 
M09170099 Nozzle core 0,38mm 80°/815" 
M09170100 Nozzle core 0,43mm 80°/817" 
M09170101 Nozzle core 0,48mm 80°/819" 
M09170105 Nozzle core 0,38mm 90°/915" 
M09170044 Nozzle core 0,43mm 90°/917" 
M09170106 Nozzle core 0,48mm 90°/919" 
M09170107 Nozzle core 0,53mm 90°/921" 
M35030203 AIR CAP\E SEMI-FINISHED 
M34040033 Paint pipe M12x1,5 
M55070379 Screw-in fitting M12x1,5 - M14x1 d4 
D76030018 Packing ring A14x18x2 DIN7603 Cu 
M01010179 Connection fluid inlet M16x1,5 M14x1L47 
M55070378 Screw-in fitting M12x1,5 - 11/16"-16UN 
M55070382 Screw-in fittings VIII. D21 SW19 
M34040034 Paint pipe M12x1,5 
M08280042 Gasket D15,9 d11,9 L2,5 PA6 
M55070380 Screw-in fitting M14x1-11/16"-16UN d11,9 
M68010234 Pressure spring 
M01010180 Connection fluid inlet 1/4"NPS M14x1L45 
M55070381 Screw-in fitting 1/4"NPS - 11/16"-UN16 
M30010339 Union nut M36x1,5 
M25030086 Protecting cap nozzle 2 black 
M08010538 Packing ring d32,7 D36,5 s1 PTFE 
W12920001 Tool universal EcoGun 
W12920002 Tool EcoGun 
W33120007 Cleaning brush 
M32020371 Needle tip compress 256 
M32020344 Needle M1,4 D1,5 M1,4 
M08110022 Packing ring conical D8-20°-D6-d3,3 
M25030085 Protecting cap D6 d3,3 H3,7 VA 
M35010251 Ring D5 d3 L3 PE-UHMW 
M08060013 Stabilization ring D8,7 d4 s6 PE 
M08020080 Rotary shaft seal 3x5,9x2,4 PTFE 
M08070053 Packing bush d-G1/8" D14,5 L7 EcoGun 300 
M16090132 Filter housing D9,4 G1/8" VA  



 

M13100243 Filter insert 100MSH 
M13100244 Filter insert 200MSH 
M16010484 Housing spray gun EcoGun 256 
M01010222 Connection AM 256 
M08280061 Gasket Seal PTFE 
M08030803 O-ring 11,25x1,25 VA 
M58170024 Hollow screw 1/4"-18.6 UNI 
M58170025 Hollow screw G1/4" L16 
M58170026 Hollow screw M8x1 L21 SW6 
M08030860 O-ring 6,75x1,78 viton 
M03010386 Seat piston needle receiver 256 
M08150057 Valve seat D7 d2,0 L6 CARBID 
M08280033 Gasket D5 d2,5 L0,25 PA 
M08320007 Needle gland N body 
M08280062 Gasket D5,7 d3,3 L2,2 
M08280064 Gasket D6 d1,4 L2,4 PE 
M08280063 Gasket D6 d1,4 L2,4 PTFE 
M08030869 O-ring 8x1 VITON 580 
M68110024 Spring washer R0060 
M68110023 Spring washer 8x3,2x0,45 F.M3 
M32020343 Needle SMZ 
M08310014 
M19060019H 
M68010258 

Back-up ring D8 d2,8 s4,5 CU 
HAKEN 2xx 36,9x30,03x6,0 
Pressure spring D9 DM11 Lo26 SST 

M68010233 
M41260002H 
M19023649H 
M21030001H 
M35010266 

Pressure spring 
Stop screw 
Bracket paint pipe EcoGun AA MAN 1P 
Adjusting knob 
Ring D14 BLUE 

R77200003 PE UHMW - TYPE "S" D10 GREEN 
M35030202 Air cap E ROHLING 
M48010249 Plug D9 L3 EcoGun 256 
M34060173 Joint pipe D6x1,0 
M30030108 Hexagon nut M12x1,5 6S 
M58050049 Cutting ring twin bite 6LS 
M34060174 
M30010339H 
R77070041 

Joint pipe D19,9 d6 L138 11/16"UN SW17 
Union nut M36x1,5 
TEFLON BARD40 300mm EPP PLASTIC PRESSED 

W12920004 
W12920002H 
M32020370 

Tool universal 
Tool EcoGun 
Needle with spike 

M66100044 
M32020344H 
M16010483 

Ball D3/32" GD10 CARBID 
Needle M1,4 D1,5 M1,4 
Housing spray gun EcoGun 256 

M20010426 Sleeve D13 d9,7 L29 V2A NR.256 
M66100042 Ball D5,556 G40 
M68010264 Presssure spring d1,25 Dm11,25 L17 SST 
R47360003 
M32020343H 
M08310014H 
R44070001 

RD CuZn40Pb2 D6 
Needle SMZ 
Back-up ring D8 d2,8 s4,5 CU 
BL AlCu4MgSi(A) 350x250x6 EN485 

R47030017 RD AlCuMgPbF37/38 DIN1747 D40 DIN1798 
R47030006 RD AlCuMgPbF37/38 DIN1747 D10 DIN1798  



 

H42209001 PL.3X1000X2000VALC.ZATEPLA Zn.C55 1.0535 
M17040004 Blank airgun EST G-Al 
R47330005 RD CuZn39Pb3F44 DIN17672 D8 DIN1756 

End of appendix 


